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UCA2A 11112130 * 4 F*g
UCA2A 11112090 * 9 B * 4%
UCA3B 11102130 * 5 = * 4
UCA3B 11102130 * 2 =8
UCA3B 11102130 * 0 i
UCA2A 11112130 * 3 R
UCA3B 11102130 * 2 5T * 3
UCA3A 11102130 * 6 fE* 2
UCA3A 11102130 * 0 =
UCA3B 11102131 * 5 #3r e
UCA3B 11102135 * 2 8 * 3=
UCA3B 11102130 * 6 = IE
UCA3B 11102130 * 8 B *
UCA2A 11112130 * 2 5* 18
UCA3B 11102131 * 3 o7
UCA4A 11092000 * 6 M*=
UCA3A 11102130 * 9 2 * Ul
UCA3A 11102130 * 3 = * 15
UCA3A 11102130 * 4 o *
UCA3B 11102130 * 7 K * 5H
UCA3B 11102020 * 3 I * B




